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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each
and Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

WUS-37 / SECTION-A
I G 19 4§ Y 1 1 3F ¢

Question numbers 1 to 4 carry one mark each

1 ADEW, ® AB|[EW ¥ 1 af§ AD=4 cm., DE=12 cm. &1 DW = 24cm &, @ BD &1 AF 9@ &ifsg | 1

In ADEW, AB|[EW. If AD =4 cm, DE=12 cm and DW =24 cm, then find the value of DB.
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2 ?Tﬁi1+cos20=%a‘rewnﬂamﬁm|

If 1+ cos20 = Z, find the value of 6.

3 Waﬁwwﬁﬁf&q:se@e—+
cosec“0—1
Write the expression in simplest form : sec20 — +
cosec“0—1

4 frfafaa IReRdr sied | H1edeh o1 I HIfT

frate @ {~L'C{0h|’0h 1400- 1550-1700 | 1700-1850 | 1850-2000

F A 1550

@l g 8 15 21 8

From the following frequency distribution, find the median class :

Cost of living | 1400- 1550-1700 | 1700-1850 | 1850-2000
index 1550
Number of weeks | 8 15 21 8

WUE-o / SECTION-B
I €A1 59 10 H Y & 2 3T B

Question numbers 5 to 10 carry two marks each.

5 fag Fifse fF 2+ 35 T s g2 B

Prove that 2+3+/5 is an irrational number.

6 I8 D TS GA 14 hitery, frEd 70 X 125 Sl 9T S W HHA: 5 3R 8 I &l T
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Find the largest number which divides 70 and 125 learning remainder 5 and 8 respectively.

7 I TEIG 12— 7x+k & LIR o TAB B q° a— =17, T k 1 I J1d it | 2

If zeroes a and B of a polynomial x2—7x+k are such that a— B =1, then find the value of k.

TSt ABC &1 YSTisii AB @9 AC R S fog X qenY 39 UK feorq § T %=%,AY=2 cm

A YC =6 cm ¥ | FAET XY||BC & a1 & |

X and Y are points on the sides AB and AC respectively of a triangle ABC such that % = i ,

AY=2cmand YC=6cm. Find whether XY||BC or not.

9 qH fepifeara : 2

cosec 13° cot 20°

sec 77° tan 70°

Evaluate :

cosec 13° cot 20°

sec 77° tan 70°

10 T forshe @erdl §1 T a9 § @l 7T 50 F=i H 39 g fou 7 fafewel @t e e S g 2

3Tk g foru U faferel =1 wem 3d Sifsa
fafeel s g | 02 2-4 4-6 6-8 8-10
Tl =t " 5 10 32 1 2

Rajan plays cricket. His data regarding number of wickets taken in 50 matches he played in a
year is given below. Calculate the mean of wickets taken by him.

f
Number —of |, ) 24 46 6-8 8-10
wickets
Number of 5 10 32 1 2
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GUS-| / SECTION-C
T ESA1 119 20 H Ik o 3 AR B

Question numbers 11 to 20 carry three marks each.
11 Tuisq foh fRell eATcHeh qUiish i1 a7 6m+2 I 6m+5 o &9 1 fhE i qurieh m & forw & &1 3
gohd B |

Prove that the square of any positive integer cannot be of the form 6m+2 or 6m+5 for any
integer m.

12 foel fafy @ g i 3
Sx—2y=11
3x+4y=4
Solve by elimination :
Sx—=2y=11

3x+4y=4

13 SEU8 4x —6x —10x—3 T GEUE x +x W W FIAC| 9IRS 9o I @ HISC qo fawe 3
TR ohl AT hifsTa |

3 2 2
Divide the polynomial 4x —6x — 10x — 3 by the polynomial x + x and verify the division algorithm.

14 Yfgew 9l 20=5y+4 USA § 1 T T ash aHieo 39 Yo fafee f6 38 3+ g el 3

@
()  wfoesdr &
(i) S &

(i)~ FHIR &
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15

16

17

18

2x=>5y +4 is given. Write another linear equation, so that the lines represented by the pair are

(i) intersecting
(ii) coincident

(iif)  parallel

AABC H, s AC 1 BeA-fag X ®19f€ XY||AB %, @ fag ®ifSe f Y 1 AB =1 qea-fag ¥

In AABC, X is middle point of AC. If XY||AB, then prove that Y is middle point of AB.

T IHEY s ABC 92 PQR & TRETT A 180 cm 94150 cm €1 4f¢ QR=5 cm &, & BC I
IS |

The perimeters of two similar triangles ABC and PQR are 180 cm and 50 cm respectively. If
QR =5 cm, then find BC.

A ain2
sine=EﬁﬂTw%,HWWWﬂﬂamaﬁml
17 4 cos”“0—3

3 —4sin? @

Given sin 6 = E, find the value of : 5
17 4 cos” 0—-3

g wifSe fop

sin® — 2 sin3 0

3 =tan 0
2 cos” 6 —cos 6
Prove that:
. . 3
sin® —2sin” 0
=tan 6

2 cos3 6 —cos 6
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19 frefafad aiferst Tk Tiia & 100 HET H T Tl | Scifed 18 ol fe@md € 3

3cd1e (kg/ha) | 50—55 | 55—60 | 60—65 | 65—70 | 70—75 | 75—80

HE ® WA | 2 8 12 24 38 16

T ‘g 31 & GhR' 1 sied o1sT 3R R Gifau |

The following table gives the production yield per hectare of wheat of 100 farms of a village :

Production yield (kg/ha) | 50—55 | 55—60 | 60—65 | 6570 | 70—75 | 75—80

Number of farms 2 8 12 24 38 16

Construct a more than type distribution and draw its ogive.

20 7 siet o1 AT 48 T e Weft IRRaATSH T AT 50 ¥ | I TRERATE x T 7 [ HISIC | 3
Bil 20-30 |30-40 |40-50 |50-60 |60-70
TR 8 6 x 11 y

The mean of the following distribution is 48 and sum of all the frequencies is 50. Find the
missing frequencies x and y.

Class 20-30 | 30-40 |40-50 |50-60 | 60-70

Frequency |8 6 x 11 y

WUE-T / SECTION-D
T ES A1 21 W31 H Th b 4 3k B

Question numbers 21 to 31 carry four marks each.

21 T STFATHR HSM 18 m 72 cm @&l T 13 m 20 cm A1 § 1 S9H Tk & HIY it MR 8 T 4
T T YRR i TR I <AqH A1 14 RIS

A rectangular courtyard is 18 m 72 ¢cm long and 13 m 20 cm broad. It is to be paved with
square tiles of the same size. Find the least possible number of such tiles.
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22 4 FfEAT 3R 3 Bl 1 Jod T 2100 § 9o 5 Al SR 2 Bl 1 Gea T 1750 1 Th B iR 1 F&i 4

1 STAT-STAT Hed Jd it |

4 chairs and 3 tables cost ¥ 2100 and 5 chairs and 2 tables cost ¥ 1750. Find the cost of one
chair and one table separately.

23 Ifq fEoma SgUS f (x) = 4x2 — 8k + 8x — 9 Tl Tk Y[AH X 1 FHUMHS @, O ka2 +3ky +2 % =T 4
1A ShifSIT |

If one zero of the quadratic polynomial f (x) =4x2 —8kx +8x—9 is negative of the other, then
find the zeroes of kx2 + 3kx + 2.

24 Th Haedl 1 AT 634 +8x3 +17x2+21x+7 F €I ¥ YERIA fohan s Tha1 1 s AoigX ol 4
252+ 5 ¥t fedt 3R sfeq o e x+2 TR o= M1 HsH= 3 39 U 9 el 98l & fau %
I | 39 TSIgA i o1 1 shitog, 5 e faem | sod o1 @ g guie e E?

A factory has a profit fund represented by 6x*+8x3+17x2+21x+7. The fund is equally
divided between each worker of the factory. Each worker receives an amount of 2x2 4+ 5, while
after distribution, x + 2 amount is left. The management decides to use this amount to create a
medical aid fund. Find the number of workers who received the fund. What values have
been depicted here ?

25 o #, AABC &1 9[STT AB W < fsig D 3iR E 30 y=R feoq € f AD=BE ¥ 4fc DP||BC iR 4
EQ||AC ¥, < fas =ifS fF PQ|AB ¥

In the figure, there are two points D and E on side AB of AABC such that AD=BE. If DP||BC
and EQ||AC, then prove that PQ||AB.
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26 YRYTIRE T9T & faay o1 s fafau @it fag wifst

TH YA o IR 9 fefafEad 1 g ST : AABCH AB=6+/3 cm, BC=6 cm 3T AC=12cm
%, 91 OB 919 Sifeq |

State and prove converse of Pythagoras theorem.

Using the above theorem, solve the following : In AABC, AB=6+/3 cm, BC=6 cm and
AC=12cm, find OB.

27 TR 7 o 9= fomr |7 | RIS

cos2 35° + cos2 55°

5 5—— + /3 (tan13°.tan23° tan30°.tan67°.tan77°)
cosec” 15° — tan“ 75°

Without using trigonometric table, evaluate :

2 nro 2 kro
cos“35° 4+ cos“ 55 +\/§(

3 5 tan13°.tan23°.tan30°.tan67°.tan77°)
cosec”15° — tan“75°

28 7fg x = secA + sinA 3y = secA — sinA ®, T fag =ifse fo

)55

If x = secA + sinAand y = secA — sinA, prove that

)5
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29

30

TG sin20 + cos20 =1 ! fag Hife AR 35 74m 9 fag s fo

sin%0 — cos?0 =1—2c0s20 B |

Prove the identity sin20 + cos?0 =1 and use it to prove

sin0 — cos#® =1 —2cos26

o oo 3

FsfetiEd SRS sie 1 Sgeteh A1d

(aWa

o A TRER
1

25-35 7

35-45 31

45 - 55 33

55 - 65 17

65 - 75 11

75 - 85 1

Find the mode of

Class interval | f
25-35 7
35-45 31
45 - 55 33
55 - 65 17
65-75 11
75 -85 1

31 1 sied, Uk wan W 60 fomnfofal & R <uiar €1 37 fomnfefi & are e sgere YR 9| S |

chllsl

q:

the following frequency distribution

IR (kg )

40-44

44-48

48-52

52-56

56-60

60-64

64-68

68-72
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foenferai =t
g

4 6 10 14 10 8 6 2

The following distribution gives the weights of 60 students of a class. Find the mean and
mode weights of the students.

Weight
40-44 | 44-48 | 48-52 | 52-56 | 56-60 | 60-64 | 64-68 | 68-72
(in kg)
Number of | | 6 10 |14 |10 |8 6 2
students
-0000000-
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